SAP ABAP table ISMAM TXW JHAPLZ {DART IS-M/AM: OPM - Positioning Assignment}
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JHAEA
MANDT [CLNT (3)]
AVM_NR [CHAR (10)]
POS_NR [NUMC (3)]
UPOS_NR [NUMC (4)]
EIN_NR [NUMC (6)]

JHAK

MANDT [CLNT (3)]
AVM_NR [CHAR (10)]

JHAP
MANDT [CLNT (3)]
AVM_NR [CHAR (10)]
POS_NR [NUMC (3)]

JHAU
MANDT [CLNT (3)]
AVM_NR [CHAR (10)]
POS_NR [NUMC (3)]
UPOS_NR [NUMC (4)]

-

JJTIKO

MANDT [CLNT (3)]

INHALTSKOM [CHAR (8)]

0..N [MANDT [CLNT (3)]

TOO0O

TJHB1

MANDT [CLNT (3)]

PLAZ BEZUG [CHAR (2)]

TJJAB

MANDT [CLNT (3)]

PLAZ SLAGE [CHAR (2)]

TJJAH
MANDT [CLNT (3)]
PLAZ_POS [CHAR (6)]




